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A - All with Pairs

Upsolved by gxforever.
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B - Boundary

Upsolved by gxforever.
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C - Cover the Tree

Solved by gxforever.
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D - Duration
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E - Exclusive OR

Upsolved by nikkukun.
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F - Fake Maxpooling

Solved by nikkukun.
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G - Greater and Greater

Solved by nikkukun.
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| - Interval

Upsolved by nikkukun.

goog
OO s$[ris000O00O0 $[+1,r]$ 0 [, 1100 C0C0C0 $m$ OO OOOOOOOOODODODODOO
goo

1. 0000000 $0L0,ril$0 $[Li+1,ril$ 0000000
2.0000000 $[,ril$0 $[iri-1l$0000000

00000 $[1, nl$0$n\leg 500400 0000 000DODODOO0OODOOOO0OOODO $l=r$0000
gobodaoo

CVBB ACM Team - https://wiki.cvbbacm.com/



Last
update:
2020/07/18
21:46

gooo

2020-2021:teams:i_dont_know_png:multi2020-nowcoder-2 https://wiki.cvbbacm.com/doku.php?id=2020-2021:teams:i_dont_know_png:multi2020-nowcoder-2&rev=1595080001

0000000000000 $n\timesn$ 0000000 OCOOODOO0OO0O $(1,Mm$0000 %y=
x$0 0000000000000 0000DDO 000D oOo0OoOoooOO

From:
https://wiki.cvbbacm.com/ - CVBB ACM Team

Permanent link:

Last update: 2020/07/18 21:46

https://wiki.cvbbacm.com/ Printed on 2025/08/17 16:35


https://www.luogu.com.cn/problem/P4001
https://wiki.cvbbacm.com/
https://wiki.cvbbacm.com/doku.php?id=2020-2021:teams:i_dont_know_png:multi2020-nowcoder-2&rev=1595080001

	2020牛客暑期多校训练营（第二场）
	A - All with Pairs
	题目描述
	解题思路
	解题思路 2

	B - Boundary
	题目描述
	解题思路

	C - Cover the Tree
	题目描述
	解题思路

	D - Duration
	E - Exclusive OR
	题目描述
	解题思路

	F - Fake Maxpooling
	题目描述
	解题思路

	G - Greater and Greater
	题目描述
	解题思路

	I - Interval
	题目描述
	解题思路



